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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / STSIRPIZACH
fapr ¥ fatvar Fufafea d 3 338 sisar Ju At §:

1. Distractibility / fS&¢iFaferer
2. Hyperactivity / 3ifaafsradr
3. Hallucinations / #AfIHH

4, Impulsivity / SFTeETacr
Correct Answer :-

« Hallucinations / #Afa%H

2) Teachers must constantly deal with'changing standards and in
teaching profession. / fﬂ'&lﬁﬂ-ﬂ', fRABTOT STUTT A AR deod AR 3T
& "I 3T AT IR

1. Syllabus / 9T&g-faaor
2. Curriculum /Wﬂ'ﬂﬁ'
3. Assessment / 3TTeholel

4. Exam system / 9181 JOTTelr

Correct Answer :-

e Curriculum /W

3) Piaget believed that language develops in a child as a result of: / TAITST &T ATAT AT %
T &/ HwT &1 R, e & aRumAsasy gane:

1. Cognitive development / GaTcH Tahr T
2. Egocentric development / 3TTcHhfed faepr g
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3. Behavioural development/Wﬁw
4. Environmental development /9aTaRofT faera

Correct Answer :-

» Cognitive development / TATcHS [

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

A aga el 1 a8 v TR sRAeATEAH et § Afhe ag Ruan A wawsrers 3 g
uret §1 78 & fore Fler €@ Rravor A 31 amervg gefie

1. Excursions /3T IT 3THIG

2. Brainstorming methods / arraer afer

3. Grade acceleration /ﬁ?ﬂ;&ﬁ

4. Individualized instructions /WQ&TUT

Correct Answer :-

« Excursions /STHUT IT 3THIC

5) The occurrence of is an indication of stagnation in. the learning process. /

Y e, e B afar & e @ uE a8
1. Motivation / 3TfHYOT

2. Plateau / ORI (Tela)

3. Progression / WaTfay

4. Curve /3% (Fd)

Correct Answer :-

« Plateau / FE2RTH (Telal)

6) What is the main objective of teaching in inclusive classrooms? / §HTAf HaT3t &
UG FT AET 30T FAT g7

1. Preparing students for job/ STAT Pl AldL & T IR FET
2. Preparing students to pass the examination / BTN I T I Fled & TolT IR el

3. Developing thinking power of students / BTAT &I IdeT ATFd HT fARRT FEAT

4. Providing notes to students / BTAT I AICH TSTed el



Correct Answer :-

« Developing thinking power of students / ©TaI $I ded AfFd &1 AT HLEAT

7) Development does not include changes that happen due to: / @&/ & ¥ yRada gfFAfaT
a8 Y o AT F FRoT A ¥

1. Illness / STARY

2. Learning / 3f&rereT

3. Maturation / IRYFadr
4. Aging / gerdr

Correct Answer :-

o Illness / START

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“¥IrIadl A A 3R w3 (ARETH " AF U3 330) F oREwT F AQHISE 9T
ﬁqgwuw%-

1. Primary caregiver / 9Rf3ieh HgTIH
2. Family / 9RaR
3. Parents / ATAT-T9dT

4. Teachers and peers / R16Ter i @reft

Correct Answer :-

« Parents / ATAT-TIAT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / oId Udh FTdT Helclel
e A sEF AT TR i F wed iR W AR § F = R &
fav 3@ se@d 7@ A 77 fFE 9 R ST arae-awor 32

1. Behaviourist / Eaamﬁr
2. Authoritarian / Wla'
3. Authoritative / 3RS
4. Permissive / Hﬂm

Correct Answer :-

« Authoritative / TT&IRTR



10) Children with Autism are: / TFelleldr (3TfesH) ¥ NfzT =2 aa &

1. Unable to make eye contact with others. / E@Tf & I G T U Hlad H 3T
2. Unable to move about comfortably. / 3ITRTH p=y EI(:H?-T # 3rgHEY

3. Unable to fall asleep. / i o 7 gAY

4. Unable to follow instructions. / A& 1 gTaT WA F ITAY

Correct Answer :-

« Unable to make eye contact with others. / Q\Q:R.I F Y AT T 9k R H 33TAYT

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. /| HAACHS AHT & IHAEYT F SRIT, T2 a3t F

FEF AT Iod FIA

1. formal operational stage/ 3TaTRer AfshdTcA® aedr
2. sensorimotor stage / GEJAICT ITEUT

3. concrete operational stage / Hﬁﬂw ST

4. preoperational stage / Ujﬂﬁﬂ'ﬂ% S{ART

Correct Answer :-
« sensorimotor stage / TAEdHACY HaFT

12) Classical gestalt theory was put forth by: / FafAFa A¥eree gUTd AT garr T R
IgT 4T

1. Thorndike / ?‘I'\IIT‘T@'IW
2. Kohler/m

3. Piaget/ fOamaY

4. Pavlov / drdeild

Correct Answer :-

13) One way of minimizing the effects of diversity is to allow the children to: / fAfatrar & ysma i
FH FA FT U0F alal gedl A e i sqafa & 8

1. Win over each other/ W—Q\Hi W g g1 el Fr
2. Operate in separate groups/ 3TeTdT-3TeTdT Q:I?:lff H FH FA F
3. Start small communities of their own/379eY TaT & BIC Hﬂ?ﬂﬁ Gl qw FLT I



4, Socialize with each other/ W-qg:li & TGIYT Al Sl $r

Correct Answer :-

¢ Socialize with each other/ W—E@i’ & GIT AT F6lad hr

14) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following
examples satisfies that theory?/ a1 Ulddld & FaTlAed AT F AR & HJHR, Th
Faee & AT e Ry ypfas wfafrar qay deqy saeem & v & were afafsar oo
STt §1 fAefaf@a # @ $la a1 eI 3§ Reuid A e LT 82

1. Children responding to the bell at school to indicate recess and associating it to happiness./ ﬁ?@l’lﬂ'ﬂ' H
G dolel T Sod HGhIeT T Hehd FHASA ¢ AR 38 G & @y Sisd

2. Children maintaining silence when the teacher raises her hand/ s freTer §TY 37T § ar 9T
godl §1C 3@ £

3. Children expecting to receive medals by the end of a race/ gls & 3id d& U uTed el Hr
3FAIG @A are S|

4. Children getting star stickers for the right answers asked in class./ & # Clﬁ T FET IR & fow
TR TEea 9od &del dlel d<d|

Correct Answer :-

o Children responding to the bell at school to indicate recess and associating it to happiness./ ﬁa:zl'l?ﬂl’ H
G §o1a @l e TR @I Hehd THSI ¢ 3 38 @M & a1y Sisd g

15) According to Cognitivism, learning is defined as a change in the learners’ o
TAGTCHSAIG & HTaR, HATH A Rareff & # 9god & & A R
ST g1

1. Behaviour / eTdg}

2. Schemata/ HAST (FhIATET)
3. Mindset / HTATERAT

4. Morals / #fde

Correct Answer :-
+ Schemata/ HdT (THIATEN)

16) According to Bingham, what does an aptitude test disclose? / e & AR, Hﬁqﬁ' qdiaTor
¥ AT qaT Tolar 7

1. The tendencies and capacities inherent in the individual's original constitution./ afed & Hel EIHTT H
Afgd aTAdTe 3R ggfaar



2. The achievement in different dispositions./ ICIECo] H?IDET% IdT H 39l
3. The readiness to acquire proficiency and exercise ability./ FdTOTAT 3R 3 A Fr deadn|
4. The strength of the different dispositions./ ICIECo HT:IDET@EF IRIAT T TS

Correct Answer :-

» The readiness to acquire proficiency and exercise ability./ AIoTAr 3R 318 el I deakdr|

17) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning

principle is evident here? / U ¥= H G F AT A@RT AT 41| 37, gg F@oft @ar F 7@
¥ ¥gl Fia @1 3w Rgyia Tose §?

1. Reinforcement / gﬂéﬂﬂ'

2. Spontaneous recovery / ¥dd: EFITIET—‘F—T

3. Stimulus generalization / 3¢gI9eh HTATATHITT
4. Stimulus discrimination / 38&I9e AR

Correct Answer :-

« Stimulus generalization / 3819 HTHTTEHIOT

18) Carl Jung’s approach for a personality assessmentjis:/ Sd{Fdca ’helst & fAT HIel TT FHT
Tioehor §:

1. Judging / o
2. Perception / HdgaT
3. Structured / EXRIT

4. Projective / gerdr

Correct Answer :-

» Projective / gedr

19) Which of the following is the term used to denote inborn patterns of behavior that are
biologically determined? / sifa® ¥ & AUIRT sgagr & seaona deat &t g & AT
farafaf@a & & B aeg 1 39er fBFar Jmar 872

1. Arousal / 3dioled (TWRI3Te)

2. Drives / 3edsile (3T3cH)

3. Instincts / ﬂ@%ﬁ'ﬂf (3Rcae)
4, Incentives /| TelldTeT (3«:‘-!@%63)



Correct Answer :-

« Instincts / HW (8Rcae)

20) Which of the following is not a part of the process of memory? / FFafaf@a & & sl @r
wfa # uftkar &1 Rear a8 82

1. Storing information / STTeTeh T TG AT

2. Encoding information / STTeTehTI AT HhclTehOT el

3. Acting on information / ¥l G P FIAT
4. Retrieving information / STHHRI UTd HAT

Correct Answer :-

* Acting on information / AT T FT FIAT

21) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HAATHS AP i HiaT
N 39-379TYT TISC BT &, ST TF g=dT HYST gHAIET AU FiAar @A F fow 3mE-
%3 W o ge gare Hi@ar 82

1. Coordination of secondary schemes / ATETTHD ISTAT3 hT FHedd
2. Primary circular reactions / YT #h gTehR CIGIE I

3. Secondary circular reactions / AT TS ERICaLs gfafeare

4. Tertiary circular reactions / cJ IRED ddlep} gfafshare

Correct Answer :-
» Coordination of secondary schemes / ATCTTHS ATAATHT FT JH-AT

22) What age is a child the most impressionable? / fh¥ 3T FT T=aT FaH SIGT FHTERATAT Erell

g2
1. 14 to 18 years / 14 { 18 AY
2. 2 to 8 years /2@[86&

3.9to 12 years /99 12 ¥

4.6to 14years/6?f14aﬁ'

Correct Answer :-

« 6to 14years/6ﬁl4a'ﬁ'



23) CCEis undertaken ___ ./¥§ _ 3*er fRar Smar g1
1. Four times a year / Ueh ¥ H IR IR

2. Throughout the year / a¥ 8 &

3. Periodically / SAI-HAT YT

4. Twice a year / Ueh a¥ & @l g

Correct Answer :-

« Throughout the year /¥ X

24) Questioning in the classroom : / &Il H 9T FIET:
1. Develops inactivity / TShaar AsfAd #ar g
2. Clarifies subject matter / TaST a&q FI TISC AT ¢l
3. Creates indiscipline / ﬁ?ﬁﬂ@ﬂ?ﬂ YeT FLaT gl

4. Ts a waste of time / THI ST TaTAT %'|

Correct Answer :-
« Clarifies subject matter / A8 a¥d P TISC AT ¢l

25) Needs which grow stronger when unsatisfied arecalled:/ W E’Iﬁ' T w ﬂﬁ' arell
HTRIFAT e Fgard §:

1. Deficiency needs / HT ST

2. Primary needs / ITfA® ST

3. Growth needs / ac?\:@' ST

4. Being needs / 32T ST&A

Correct Answer :-

« Deficiency needs / hHT STEI

26) Who proposed the theory of observational learning? / W&TONR_T 3189 &1 ﬁa}n?r e
Edd

1. Ivan Paviov / 3T UTadid
2. B.F. Skinner / &I.U®. TThelX
3. Aaron Beck / IR 9



4, Albert Bandura / EIE\TI'

Correct Answer :-

e Albert Bandura / EE\TI'

27) A scoring guide use to evaluate the quality of students is called: / ST &Y
OTEAT FT HedThed I & fAT sEAATr T I aqTell T TN 33 vt
FgTdl §:

1. Checklist / dahferre
2. Rubrics / ®fsed
3. Rating scales / YT Thed

4. Inventories / SAdfeH

Correct Answer :-

. Inventories / 3Adfed

28) Both pleasant and unpleasant feelings are associated with ./ LiLCLY
3R 3 gt sraey S a &l

1. Double approach — avoidance conflict/ E{% ZTeeehIoT - IRER T8y
2. Avoidance - avoidance conflict / qﬁ“&"l? - qﬁ%'l? gy

3. Approach — approach conflict / TfSeehIUT - T fScepror Ty

4. Approach — avoidance conflict / ETSEehI0T - TRER TEY

Correct Answer :-

. Approach — avoidance conflict / TTe&eIUT - TRER qay

29) Authentic Assessment is a form of assessment in which: / UTHIOTS 3lipa
3fipa BT ¥ U ¢ foraw :

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /WﬁWW%W@[WQ?WWW%’,
SiY 3T e FATel 3R hierer & Areieh HeTIdNaT hY T Rl el &

2. Students results are compared to hypothetical average student / SIE]] *Wﬁ@'ﬂm
Fleqlaie AT ST A R AT &




3. Student performance is measured against a fixed set of predetermined criteria or learning
standards / BT & Ue¥H &I gd Fuifkd amcs! a1 ¥had & A & Ue Ffd e & faudta Amn
I §

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction / T18Ter ST T SATFTITT ATFIAT, FHANRAT, AT 3R TA&TT T piAT T Tgor
feRasarg

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /mﬁaﬁmﬁwgﬁm%ﬁaﬁmﬁ%ﬁvmmﬁ
SiY 31TeTRTeh #ATeT 3R hlRreT o HTLeh 3T T TG R &l ©

30) Which of the following factors influences a child's success and failure in school

performance / FURITAT # 4 FI-91 RS ATy & uex= & 9= 91 IHAdr 3R AGBAdT
P gUTRIT a1 2?2

1. Parental education background / HTaT-TUdT & fRref @t qgﬂi&r

2. Physical strength of child / T B IRIRD q\_l‘@fﬁ

3. Teachers contribution in learning process/m gfshar H fretet &1 Jerere
4, Social Influence on child's learning / T b ST UR g UHTd

Correct Answer :-

e Teachers contribution in learning process/m GfchaT & 44Tl I JRIETT

Topic:- General Hindi (L1GH)

1) AYI-AYR A &9k el
Zor-gar gfafgs wfaeror yfade
Rraasr &1 97 amafea w1
wher Har RAger qg o7

AG AA-AT g Y, Fg-d=l
& warer #1 ey aaRfaa,
N et #1370y TreT-1d
qoh-ged A I el

ar fiae FAA

AT ¢ oI QT FHOT;

faRg-erersr AT g1 Fgar &



T, o S 9rT gerd e
fREe-Rgr A duw Fa

S a7 #H 3@ HEETF
we-o o fFaar daw
FAAT PR FT 3T Ao,
faega & frar ¢ ameel
REw-Rew A Qus Fal

39T YGIIT T YGH A & A gl G FT 3ca} qaqrsv|
YT ‘ToAF-JoIdF A PIA-AT PR §?
1. HifaATT

2. GeTSieFcd FehTer

3. 3cHeT

4, AR

Correct Answer :-

2) AYT-ALR A Eueh el
Zor-gar yfafes wfcamor afaae
Rraas &1 g eifea
wher Har RAger qo a7
A AA-AT g Y, Fg-dal
& v #1 Ry aaifaa,
R Sfraer H1 397 areT-aTeT
qdH-Jard A A el
R efider FAA e
AT I§ AR ATl FOT;
freg-erarsr X g wgar &
B, ST 9T g fAer
fRAeT-Rer A duw sl
STed A9 7 @ FEETw
we-gi fad fraa fusw
STAT VR &1 3T SAelal;

faega & frar ¥ awcal



REw-Rgw A Hus el

3YYFA ISHYT T YGHT AT qF S a1 WA FT 3ca} TARTI
weeT: ‘arerer R FEa 82

1. ®fdeT Ir 99 1

2. Rfgar =

3. AYAFET F

4. {IX &

Correct Answer :-

o BT IT g HY

3) AYR-AYR A uF el
ar-gar yfafeer gfaeror gfager
Rraasw &1 9y srafFa |
wher Har RAger qg a7

G AA-AT1 g Y, Fg-c=l
& warer #1 ey IR,
N et #1370y TreT-a1eT
qo$-god AY g9 STl

an effaer FA T

AT ¢ IR AT FHOT;
fea-ererer R g Fgar #
e, o S 9rT g e
fEe-Rs N fuw s
Sdd T H @ HHETF
-t faa o fuw
FAAT TR HT 3T ST,
fgga o R § awEal
fadu-fdw At o I
39T YGIIT P YGHF A & A aTel T FT 3ca} qaqmsv|
R ‘HINTAT FT F41 AdT §?
1. gfaAreT afed

2. JATOTHIGT



3. 39TATOT
4, IATAT T AR

Correct Answer :-

o 3TAT I7 AR

4) AYT-AYR AN duF STl
-7 yfafesr afasror gfaaer
Rraas &1 9y srafFa |
wher Har RAger qo o7

g AA-AT g Y, Hg-c!
& warer w1 Ry 3R,
N SNaar F1 307 TIeT-1T
qo-geF A IF el

ar offad FAA T

Hior W@ IR AT FT;
freg-ererer AT g7 Fgar &
B, T ST UHT g Al
fer-Rer AR duw s
Jod A9 A @ FEEAS
el fad fraa o=
AT R HT 3T ST,
faega & frar ¢ aca
fagw-Rgw N dus e
3YYFA ISHY FT YGHT Al q&F S a1 WA FT 3ca] TASTI
weeT: ‘AT YTaT HETaY FT FAT ITAT 87
L §TH & HIg AT

2. T Arforer

3. T H del oermer

4. SEA ARATAT AT

Correct Answer :-



5) AYT-AYY A U el

ar-gar yfafeer gfaeror gfager

Rraasw &1 9y srafFa &

wher Har RAger g a7

G AA-A1 g Y, Fg-d=l

& warer &1 ey A,

N et &1 3707 TreT-a1ed

qoH-god AT q9F el

ar effder FAST T

AT I¢ o AT FHOT;

fea-ererer R g Fgar #

B, o S UrT g e

Rge-Rgr A fow sen

Sdd T H @ HHETF

-t faa o uw

FAAT TR HT 3T Fad;

fgga o frar § awEal

REw-Rew A us sl

39T YGIIRT HI GGHT A Y& A dTe TeAH 3ee} T vl
Yol ‘g AT W YA ¥ {G A ¥ FAT A g2
L §TH & P15 QT

2. 510 A1H e ST § 38 & 39 q9 S Auelr aifge
3. el HIH gol ST §

4. deT T FGAT IS g &

Correct Answer :-

o S A Ruer S1ar & 9 &1 AR 9 Fo g aifge

6) AYI-AYI A GUF el
ar-gar yfafes yfaeor gfauer
Rraas &1 oo reifea w1
wher Har RAger qg o7

AG AA-AT g Y, Fg-d=l
& warer #1 ey s,



N SNaar F1 307 TIT-1T
qo-gaF A I el

ar offad FAd T

Hior W@ IR ATl FT;
freg-ererer AT a7 Fgar &

B, T ST 9T g fAer
faer-Rer AR duw s

Jod a9 A @ FHEIS
el fad fraa o=

AT R HT 3T ST,
faega & frar ¢ aca
fge-Rgw N dus e

3YYFA ISHT T YGHT Al q&F S a1 WA FT 3cal TSV
veeT: ‘SATT-Hor fHE Fer T §7?
1. Shdel 31T &HI o9C

2. hdol 39T T TLAH 372
3. 5T & FIS gl

4. 31T &1 o9 3R 3T T TEAH 372 sl

Correct Answer :-

o 3T T o9 3R T T THAH 37 St

7) AYT-AYI AY U Sl
or-gar yfafesr gfaeror gfaaer
Rrasw &1 9y srafFa |
wher $ar RAger qo o7
g AA-AT gl Y, Hg-de!
& werer w1 Ry 3R,
N SNaar F1 3707 TIeT-1T
qoh-geF A I el
ar fiqer Fa o
Hiar W@ A ATl FT;
freg-ererer AT 47 Fgar &
B, F ST 9T g fAer



Rge-fEw A fow s

Sod 99 H 3@ IWEIF

wie-fi o Faa duw

FTAT PR FT 3T e,

fagga o far ¢ s

fgw-Rge N fuw =

39T YGIIT Y YGH A qF A gl T FT 3ca} qaqrsv|
weeT: ‘feq s d9s & WU FA ST JT AEAT 872
1. f[5er Bt &1 31fa=<er & FRUI

2. 3TEERAAT & HROT
3. 510 @ &S QT

4. 9a &9k H FAT SATAT IET &

Correct Answer :-

o UG &9k H AT AT ABAT &

8) AY-AY A §us el
Zor-gar yfafesr gfcaor afaaer
Rraw 1 oy areifda w1
wher Har RAger qo a1
AG AA-AT g Y, Fg-d=l
& warer w1 Ry 3R,
N Sfraer F1 307 IreT-TCT
qels-gelsh AY & STell
R el FHAS e
AT I§ AR ATl FOT;
faeg-erersr AT a1 Fgar &
B, T ST 9T g fAer
Riez-Rer Ay dus sl
S AN A AW HAETH
wg-di d fhaa das
FAAT VAR & 3T ST,
faega & frar ¢ ameel
fga-fagw & fus sren



3YYFA ISHYA T YGHT AT qF S a1 WA FT 3cal TARZTI
TeeT: TAEEl &9 ¥ FAT arcad 82

1. HEF-EF S TR &

2. 759 e & wiE A &

3.99% & 588 @ 7 @

4. dRT & TAGEIT &Iueh hgl T &

Correct Answer :-

. dRT & TEd &uE el AT

9) AYT-AYI A §us Sell

o1 gfafesr gfaeror gfaaer

Rraas &1 gy areifea w1

wheer Har RAger qo o7

A AA-AT g Y, Fg-d=l

& werer w1 Ry 3R,

N et #1370y T1e-31T

qoH-god AY g9 Sell

ar ffaer AT e

AT I§ AW ATl HoT;

freg-ererer R g Fgar F

B, o S 9rT g e

RE-Re A fuw sl

Sdd T #H @ HUETH

wg-d faa fFaar Qo

FAAT WRR FT 3T Selal;

faega & far @ awcen

fdu-Rgw At Hus I

3YYFA TSI T YGHT AT qF S a1 WA FT 3ca TARTI
YeT: T AU &N Y FH YFR qFT FaT 87

1. TS Flh
2. €9 FI TF AR P

3. Tl &lah



4. 31 ot ¥ THT AGT UTdT al HooAToh &1 STFd T &

Correct Answer :-

o ST ol & THT AGT UTdT Al HooATh &1 cTFd T &

10) AYI-AYT A &9 Sl

-7 gfafesr gfaeror gfaaer
Rraas &1 o reifea w1

wher dar RAger qo o7

AG AA-AT1 g Y, Fg-d=l

& werer w1 ey 3R,

N et #1 3707 TIeT-1d
qoH-god AY q9F STl

an ffqer FAST T

Hiar ¢ TR SATAT FT;
fea-arerer R 4 Fgar &

B, o S UrT g A
RE-Rer N fus sl

STerd 7 7 W HEETH
we-ga faa fraa dus
FAAT WER FT 3T A,
fagga & far ¢ awce
REu-Rgw A Hus e

3YYFA ISHYA T YGHT AT q&F S a1 WA FT 3cal TARTI
Yol WEqd Hfaar & Ao AR Raawr Fed v 2
L§TH § FIS e

2. §9 T H1 Iawm AfFer &
3. 3% 3@ YA 3R &g

4. fea 3R ofa &

Correct Answer :-

o AUF TG & DIaH AfFT &1

11) FeR-AR AR A o7



o1 gfafeer gfaeror gfaaer
Rraasd &1 9y srafFa &
wheer Har RAger qu o

AG AA-A1 g Y, Fg-dA=l
& werer F1 ey 3R,
N et #1377 TIeT-1d
qoH-god AY qF el

an effder FAST T

AT ¢ oA AT FHOT;
feg-ererer R g Fgar #
B, o ST 9rT g e
fRE-Re N fuw
Sdd A #H @ HHETH
-t fa frasr o
FAAT R HT 3T S,
faega & frar @ el
fdu-Rgw At dus I
3YYFA ISIIA FT GGHT AT I S I YT FT oo} [qABTY
veeT: FAfEl o das F Fdd THR F FeT B FeT 87
1. el AYL-AY

2. ool Sga-Togw

3. shdel Jolsh-Jeleh

4. 39qer Ty

Correct Answer :-

12) AYT-AYT A due el
ar-gar yfafeer gfaeror gfager
Rrrasr #1 gy arefFa w1
wher Har RAger g a7

G AA-AT g Y, Fg-d=l
& warer &1 ey A,

N et &1 3707 TreT-1ed



qoh-gersh A fas el

ar effaer FAS T

AT I§ AR ATl FOT;

freg-ererer AT 47 Fgar &

B, F ST g g fAer

faer-Rer AR duw F

Jod A9 A @ JHEISF

we-di fad fraa o=

FAAT WRR FT 3T Selal;

faega & frar § ace

fgw-Rdw At o I

3YYFA ISHY T YGHT Al G S a1 WA FT 3ca] TASTI
geeT: Fafds fhasT 90 ATefhd HT-T ° W §2
1. 39e O &1

2. Tordll &1 AET

3. TRl TSt &1

4. 18 dcdel sy

Correct Answer :-

o 39 TIde &r

13) AYT-AYI A A9 ell
-7 yfafesr gfaaror afaaer
Rraas #1 gy arefFa =
wher $ar RAger qo o7
g AA-AT g Y, Fg-cal
& werer w1 Ry 3R,
N SNaar F1 3707 TIeT-1T
qo-geF A I el
ar afiaer FrEe qaeT

Ao I TR ATl FT;
freg-ererer AT a7 Fgar &
B, T ST 9T g fAer
RE-RE N fus v«



S T A 3@ HAETH

wg-dia A fvas dus

FAAT VAR & 3T ST,

faega & frar @ amge

REw-Rew A Qus Fal

39T YGIIRT Y IGHF A & A gl T FT 3ca} qaqmsv|
YeeT: ‘AYX AY AN U e Hfaar #1 ded g & fFy w Ak 37
1. ael Asel I 3R R

2. shael Hhol fod 3ol TT

3. 57 & FIS QT

4. qrsar 1 g 3R wher NT 3wt gl TEr
Correct Answer :-

. reet &1 gt AR wwe S 3w gt a8
14) AYT-AYT A U el

Zor-gar yfafesr wfaaror afaae

Rraas 1 gy reifFa

wher Har RAge g a1

A AHA-AT g X, Fg-cal

& warer w1 Ry 3R,

A Sfraer F1 307 ATeT-TCT

qa-gard A fuw el

an effder FAST T

AT I§ JHAX ATl FOT;
faeg-erersr AT g Fgar F

B, o S UrT gerd e
Rex-Rew A dus sl

o a9 # @ HEETH

wg-die @ fras dus

FAAT VAR & 3T ST,

faega & frar ¢ amgel

REw-Rew A Qus Fal

39T YGIIT Y YGH A qF S gl G FT 3ca} qaqrsv|



weeT: dige) Y w41 fydvar a9 w1 {2
1. Gl el g &

2. STEe ITHAT H g &
3.5H § I ol

4. dgelt H fastelr gidr g

Correct Answer :-

o STl & sl g &

15) AYI-AYT &Y &9 Sl

-7 gfafeer gfaaror gfaaer

e &1 9y srafFa |

wheer Har RAger qo o7

A AA-AT1 g Y, Fg-d=l

& werer w1 Ry 3R,

N e #1377 T1eT-1
qoH-god AY G el

an ffaer FA et

Hiar I TR SATT FHT;
frea-ererer R g Fgar X

B, o S 9rT g e
Rge-Rer N fuw s«

Sad A9 # @ IEETF
wg-g fad fFaar Qo
FAAT WER FT 3T el
fagga & far @ awce
REw-Rgw A Hus e

3YYFA ISHA T YGHT AT qF S a1 WA FT 3cad TARTI
weeT: s & 5w a1 &1 3marg fFar o W@ 87
1. 37T Ve &

2.8 & I 3R W &a Forar |
3.9¢ ®A ad 9

4, foefe $r smae 7 W
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¢ 98 W I IR & T Sorar T

16) SRAAY HUT HY FT-AHA ¥, Ig Feredl F1 ;L 2 F| AT & 57 &707 50 A Ay a7l W el
IR diT @1 NN, Fald SH FHT { FEredl F f yHAdT gAN Fgl gIAT gl ®odg Rea-wifeey
W 77y ¢, O @ $9T @ F6 9N ¥ g @ g ffl Hedg A IAE el W dchrellT
AT H FgET a1 FFEEEs A aFRFar 3k v y=mfad @ur @ F gaAor Fea &1 s 33 99T F7
TF AEEEE ATl % F AN ) FIARE WA # Ieiw Auw a1 fhaaaat adr S g oAf1 el s
ﬁaﬁaﬁzwﬁ#mﬁamlﬁﬁmmm#wmmﬁmw
HETAT T 1T WA @ &1 37 T ¥ %Idg (1/32) &1 Ig IHT ST ¢ :

"ﬁgar%wmmmmi,ﬁ#wm#mmﬁm%lmaﬁ(mw)as‘r
AR, I T GRT A yarfed Far 3 gda W aflewt § Qv wwar @« s F 339 3 F AR fww,
ST qdd W T@AT ATl @l A $on A€ a9 an ATl (3o A S & Al F1 Iedr @ren,) e g%
AT T RE T A FT AT 9§ TAT| 3T HIA g H @ A & A€ AT fFar 3 a7 @ 7T
W WBR fFarl gex a Arnfaat i awr w1 ARy A 3w g, 39 AR e F sega e s
TRAT, $o% FT HS AT 7 Tl Fo5 & g7 F 34 F W FIe 371, ¥ 93 A AT F1& Sreh &1 g7
Rl W AR 9311 g & g7 IR o0 ¥ 5 T 47| Fow WA §, 39S IAF a4 FT gHA
5T 31 97 7% & Werl # FA e wFar 4r? 9% g @@ ¥ g W gy IR uig Fe I W ot 39
3% @ a3 I W@ ow A 3@H fio W aF ¥ TR fFa1| (WUROD) I o1 |5 F JFad H 56
FHAT 82 99 F THS-THS & M| a9 I FT Yarg AW A WAH A F AT g7 F IR § 9 397 gH
A S A URT H STaEEFA Ak T@T 11 I T ST 3W Aear g3 9 W@ U1 Fo o g7 AfFadiar
ATar W st weR framl AT IR fY, g AT gt Aml gF i AT W uF ff, SN T IS 993 F w
93t Yl gF FT Fd MR 38 TA-URT H UST AT, ST Fholl wgl oiletell, [a8mT 7t FLct| SH a9 & a7 H
g A orer et % T g3 ATl AR IHHT Wi A S G I FAw A A 39S 5@ f
qRIAT T A I@T A7

3YYFA TGN FI TGH A q& AT FeA FT 3ca} TARTI
ueel: 35 & fov fhas a9 s« 917

1.fRga

2. cgser o

3. IRFAHAR &

4. ST &
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o cascl o

17) SRAa¥ FAT i ST 8, T§ Feeit F1 W QU T AT & 7 4707 50 o5 A WA W 9@
] gig I@T g, mﬁﬂmm#mmmWWWENM|Wma-mm
UrledH I §, ﬁﬁmﬁ#wma&mamzmw:#mmwmm
m#ﬁmﬁm&wﬁ%ﬁaﬁﬁwaﬁrmwﬁmﬁmgﬁ#mﬁaﬁ%ls—awmm
TF AEEEE ATl % F AN & FIARE WA # Iew uw a1 fhaaaat adr S g o1 FEEl 5
ﬁaa#aﬁzwaﬁ#m?ﬁhmsﬁﬁaﬁammmm#wmﬁﬁmaﬁmw
FEET FT ST FHS @ 1 37 T ¥ HIAg (1/32) FT Ig 7T IS4 § :

¥ g% & TUEAl F oI T §, O 30 agud A TER ved B ¥ 3 AR (A aR) B
AR, I H GRT A garfed BFar 3 gdd W afewt F Qv ar @6 s 339 3 F AR A,
St 9dd W g 97| @S @ Fon & AT a7 g anl (Few A S @ A w1 awar @ven,) G g8



I A W T AT A AT IF TAT| 3T IS T B @ B F AT @A HFr ik g F R
W R fFanl 3ex a Arnfaat i amr w1 Ay fFan 3w 3, 39 AR e w sega e s
TREATT. 7% HT FI$ AT QT $e% o g7 & 3 A W FIC 37am, ¥ 93 A sifot A e & gF
Rl W A 9311 Aggue FF g9 IR gow ¥ a5 TaT 47| Sowr WHUKN ¢, 38A IAF AIA FT gHA
T 31 99 5w & WERT F1 H/ ¥E wHaT 41?7 aF g e @ FNI W Y AR uig FT I W ff 39
Fow @ 931§ I W Fow 4 IEH flo W I ¥ TER ATl (AURD) A Hem Wis F AFEA A o§
FHAT 8? §T & THS-THS &1 | a9 Sl F Jalg el H W g & v g9 & 3R § 9§ 3071 g9
#mﬁmaﬂmﬁﬂmmmma@rmwﬂmgmﬁmwﬁ#aaﬁelﬁaaﬁ
AT W ot WER FRATl AT SN o, g9 A gsT 9nl g9 A A @ ud o, 3 I I wod & W
T3 Y gF FT Fd MR 38 TA-URT H U7 AT, ST Fhell g1 oireralt, fsmr 7t axelt| st a9 & s@ #
AFT A oo sl O T GIAT ATl HIY IHHT W@ A1l SRy 9for At Y AF A, Q& swR o« f
YRI3MT H Ak I@T 4Tl

3YYFA AN FT GGHF AN IS T WA FT 3cal IABTI
9el: 8¢ FI HeTl & v Far RAe?

1. W

2. fasrg

3. 3refieTar

4, WTeha
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18) HRaa¥ FUT AT TAAA ¢, T§ Fereil H1 ;X AU §1 AT & 7 4707 50 U A WA W wgaht
9] gig I@T g, mﬁamm#mwsﬁmmmmﬂmlwma—mﬁ—qm
yreead T &, ﬁm@rm%m#mma&qﬁamﬁlwﬂaﬁmmwmﬁ
W#mmmﬁmﬁwmﬂﬁmgﬁ#mm%lﬁwmm
TF AEEEE ATl % F A & HFARE WA H 3w Auw a1 haefaar wdr 1 g o1 FEnl 5
mmwm#mﬁamlﬁﬁmmm#wmmﬁmw
HETAT T STAT WA @ g1 39 T & HIdg (1/32) & Ig T ST ¢ :

"# gea & WHA F1 a0 F1 §, e 37 T 7 FE@ e HAr ¥ 3w A (AHE IR) B
AR, S 1 URT F yaifed fFar 3R gda W ARRAY F v war @ s S 390 A F AR PR,
ST gdd W @1 ATl @Sl A gow & AT a9 q@mr unl (3w A S @ At F1 wwar @ven,) i 6§
I F e T A A A qF TAT| WA T T FT @ TR F AT QAT AT 3 a9 ¥ AR
W MR fFanl e F Arnfaat i Awr w Ay R 3w 3, 3w sk s 6t srega e sed
TR 7% FT F$ U @ $o5 o g7 & 31 A W FIe 370, ¥ I3 A sifear A et §ogF
mwmmlmmqﬁaﬁrw#MWmﬁm% mmamﬁmm
m%lgsﬁ#maﬁﬁwmwa?aﬁm#mlwmaﬁrmﬂaﬁwsﬁm
3% @ a3 T W §e% A 3EAH flo W ag § TR fFAml (WTURen) A7 e @iz F JgEEd A 567
m%‘?q'ara:mmg’rmmmmmmmﬁwmtmqy$mﬁﬁmlq§r
A I YR FY STEREE AF @M AT I T@ 5 37 A gar 7 @1 41l o & gF A AfFAdT
AT W oY R fFAT AT FUT oA, a-arahﬁqamlasra?rmﬁq?reﬁ rﬁmmﬁm%m
tr?tg‘nasrmmr&rﬂrmazr—ﬂm#qam a’rmna-é’ram?h A adfi s s g F a@ &
awaTaaaaﬁammgmmlaﬁmrﬁmlsmqﬁrmaﬁwaa% 3 @ 3T T A
URIAT FT Ah I@T o7

39T AT FT GGH AT IS AT YT FT 3ca TABT
weeT: §1Y IR dig F I W e g% § Iou o @n?



1. oTaT

2. 99
C
3. e g

4. Jey
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19) SRAAY FAT A T ¢, T§ Foeit F1 WX U T AT & 7 &4107 57 o5 A WA W 9gah
9] qig I@T g, mﬁaﬂm#mﬁmﬁmﬁmgmMIwmaﬂ%—am
Urledd I §, hﬁm@#wma&mamzﬁlaﬁzﬁmmwmﬁa
m#mmmﬂ##mﬁﬁwaﬁrwwﬁaﬁmm#mwm%ls—ammm
TF AEEEE ATl % F AN & FARE WA # Iow Auw a1 fhaaaat adr 1 g of1 el 5
ﬁaﬁaﬁzwﬁ#aﬁfﬁamlﬁﬁaﬁmﬁmmmﬁwmmﬁmw
HETAT T STAT WA @ g1 37 T ¥ %Idg (1/32) &1 Ig IHT ST ¢ :

"H g5 & WHAT F a0 F §, e 39 qoud 7 F@ e A ¥ 3w Ay (AwE IR) #;
AR, S T GRT A garfed Far 3 gda W aflewt § Qv ar @6 s F 339 3 F AR fwwE,
ST qdd W T@AT ATl @l A $ow F A€ a9 a0 A7l (3o A S & Al F wwdr @en,) e g
I $Y e T A F T qF TAT| T I T FT TG I F A€ QAGT par 3 a9 @ 7R
W R fFarl gow a ArEnfaat fr Awr w1 Ry R 3w g3, 391 3R e F o R s
TRATA, $o% FT HS AT Wl 375 & g7 F 30l &1 W H1e 6@, A0 I3 &1 sfoar St e g1 g7
el W AT 9Tl AEIUE F& g9 AN gog @ WA T AT Sew WA §, 3@ AHAS WA F GHA
5T 81 97 7% & Wenl F HW WE WHaT Ur? 9% U g & eNTl W gIF IR 9id Fe o W ot 3w
3% @ a3 I W Fow A 3@H N W Ig ¥ TR AT (WUROT) I 7T |5 F JHad H 56
FHAT 82 99 F THe-¢Hs & M| a9 S FT Faig, A H W I, F AT g7 F IW F 7€ 397 gH
S STel HI URT I STadeEd! Ash W@ AN T Felodler 38 Uaell §HT6 €T ATl o o A 1 ATFeagier
mmeM|mma°r,quah#qswﬂgﬁm@ﬁaﬁ,ﬁ#mmﬁa@*w
93t Yl g9 FT Fd WK 39 TA-URT H U7 A1, ST Fholl 7@l oirerait, fsmr 7t Facdh| st aw & s@ &
g A o et % T gam ATl AR IHHT W@ 41l A 9 A A AF AQ E R 39S 5@ }
RI3MT H Uk I@T g7l

3YYFA ITCIATA FT IGHF A T AT YA FT 3cal IARTI

yeeT: % A SR @ ARG T UFr @ At urel R aXE aweT 4w gI?
1. 997 &1 RE

2. 3 &I RE

3. STl &I TRE

4.f8ﬂ?ﬁ§éwm"raﬁrarg
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. T"aﬂé’r‘g’ém’faﬁra@

20) HRAAY FAT F FAAA 8, I§ Feet F1 TS A T AT A W &701 390 qor A exelt W gl
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TF AEEE ATl o5 F A @ FARE WA H e Auw a1 fhaaaat wdr 1 g o1 FEnl 5
ﬁuﬁﬁhwﬁ#wﬁaﬁlsﬁﬁaﬁmﬂmmm#wmmﬁmw
FEE FT AT FAA W@ §1 9 TR A HIdg (1/32) FT I§ A ISAT ¢ :

"H g7 & WHAl F IUT FAT §, e 3T agUR F FE ggd A ¥ 3w AR (@ IRE) A
AR, S 1 URT F yarfed fFar 3R gda W AfRAY F v war @ s S 390 A Fr AR AR,
ST gdd W T ATl @Sl A Fow & AT a9 qwmr anl (3w A S @ At F1 wear @ven,) i 6§
I F e T A FY A qF TAT| WA HUT T FT GG IR F AT QAT AT 3 a9 ¥ AR
W MR fFanl ge% F Arnfaat i Awr w Ay R 3w 3, 3w sk e 6t srega e sed
AT §7% HT F1S U @ §e5 o g7 & 3T A W FIC 3701, ¥ 93 A sifear 1A et & gF
TRl W PR 931 AGIUA FI& g7 @R o5 @ d5a Tal1 41| §og DA mmamﬁmm
m%lgsﬁ#maﬁﬁwmwa?aﬁm#mlwmaﬁrmﬂaﬁwsﬁm
3% @ a3 T W §e% @ 3EAH flo W ag § TR ATl (WTURon) A7 e Wiz F JgEES A 567
m%‘?aﬁr#mmg’rmmmmmmmﬁwmﬁmqy$mﬁﬁmlq§r
A I YR FY STREE AF @M AT 3T T8 5 37 A gar 7 @1 41l o & gF A AfFAd
AT W oY R fFAT AT FUT o, asrahﬁqamla-ara?rmﬁq?reﬁ rﬁmmﬁm%m
tr?tg‘nasrmmr&rﬂrmazr—ﬂm#qam a’rmna-é’ram?h A s xd s g F @ &
awaTaaaaﬁammgmmlaﬁmrﬁmlsmqﬁrmaﬁwaa% A zEA FTT N
URIAT FT AF I@T o7

39T A FT TGH AT G AT YT FT 3ca TABT
We: §5 9 IS aF F FW 3P F AR?

1. 317

2. ARYRR

3. PRI

4. eIqUuITHEY
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21) HRAAY FUT FT FAAA 8, Ig Feret 1 TS ¥ T FATT A oW &1 390 qor A exelt W ggel
IR UiT @1 NN, FalRd SH FHT { Feredr F f yOAd gAN Fgl gIAT gl ®odg Reg-wifeew
W 77y ¢, Eh @ $9T @ F6 9N ¥ ggd @ g ffl Heag A IAE el W dchreleT
AT H FgET I1 FEEES A NFRFar 3k v y=mfad @ @ F gaAor Fea &1 s 39 9697 F7
TF AEEEE ATl % F AN ) FARE WA # Ioiw uw a1 fhaaaat wdr 1 g oAf1 el s
ﬁaﬁﬁrwﬁﬁaﬁamlﬁﬁaﬁmﬁmmmﬁwmmﬁaﬁtm
HETAT T 1T WA @ g1 37 T & HIdAg (1/32) FT Ig T ST ¢ :

"ﬁs?gra:wmawadamﬁ,h#mm#mmﬁm%lmﬁaﬂ%(ma@w)am
AR, I T GRT A yarfed Far 3 gdd W aflewt § Qv wwar @ s F 339 3 F AR A/,
ST dd W T@AT ATl @l A $ou F A€ a9 o ATl (3o A S & Al F1 Iear @en,) e g%
AT Y AE T AT Y T g8 AT 3HT YN T F GG F&T F A€ QAR FAr 3R a9 F R
W BN fFanl sw% F Arnfaat i Awr w @Ry B 3w 3, 3w sk e &t srega e ses
TRUT, $o% FT HS AT 7 Wl Fo5 & g7 F A 1 W FIe 311, A 93 A sfxAT F1A areh §1 g7
Rl W AR 9311 g #=F g7 IR o0 ¥ a5 T 47| Fow WAURN §, 394 IAF a4 FT gHA
fFar 31 97 3% & Werl #t FA e wFar 4r? 9% ¢ @@ ¥ g W gy IR uig Fe I W ot 39
3% & @3 I W@ Fow A 3FH fio W aF ¥ TR fFan| (WUROD) I a1 |5 F JHEd H 56
FHAT 82 99 F THI-THS & M| a9 I FT Yalg AWl A WAH A F AT T F IR § 9 397 gH
A T T URT FT FaREEN T @ AT 3T T Fd 38 Agar g3 q€ @ AT Fow A qF A AFadA
AT W ot geR framl AT IR fY, g AT g3t Aml gF i AT W uF ff, S¥ T I 993 F qT
a3l g1l g9 T A R 3T AST-URT F 93T AT, AT Tl a7gt Aretait, M 78t Fedt| s g0 & a9 7



awaaﬂmfrﬁmganmlmmrﬁmlﬁ#qﬁrmﬁwmﬁﬁz&mmaﬁ
RT3 F A I@T AT

39T AT FT TGH AT & AT YT FT 3ca IABT
WeT: 5% 9 A, 39 3R rwrer wr w4 fhaAr?

1. AT

2. 3T

3. Sehgd

4. MATPR
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22) ARAAY HUT i TAHA ¢, Tg Tt F1 N U ¥ AT A T 707 57 AU Ay a7l W el
IR diT T@T NN, Fald SH FHT F Ferdr F f yHAT gAN Fgl gIAT gl %odg Rea-wifeew #
Weaad 77y ¢, FOad @ $9T @ F6 9N ¥ ggd @ g ffl edg A IAE el W dchrelleT
AT H FgET A1 FFEEEs & FRFar 3k v y=mfad @ar @ F gaAor Fea &1 s 39 99T F7
TF AEEEE ATl % F AN ) FIARE WA # Iew Auw a1 fhaaaat adr S g oAf1 FEEl 5
ﬁaﬁaﬁzwﬁ#aﬁnﬁhmlﬁﬁmmmﬁwmmﬁmg
HETAT T STAT WA W@l g1 37 T ¥ %Idq (1/32) &1 Ig 3T U&7 § :

"# g5 & WHAT F q0F Fl §, e 37 FGU F FEF T A L1 3w A (@HF 3qR) #
AR, S T GRT H gared Far 3 gdd W At § @O0 Far @ g0 F 39 A H AR 7w,
St gdd W T AT| @ A gow & AT a9 qwwr 91l (g A @ Al Fv wear @ven,) e g
AT Y RE I A f W g TAT| 3T NG Tol Rl T@ B T AT fFar sk ag @ fE
W WBR fFarl s=5 a ArEnfaat i Aw wr Rl B 3w 8, 39 SR 3w S Iead Rl s
TN, $o% 1 HI$ AT F Tl Fo o g7 & W9 $ WX Hic i, oA 93 &1 sifAdT H1& et g1 g7
Rl W AR 9311 g #F g9 IR o ¥ s ToT 47| Fow WAURN §, 38A IAF qFAH FT gHA
fFar 31 97 5% & Wenl # FA e wFar 4r? 9% ¢ @@ ¥ g W gy IR uig Fe I W ot 39
3% @ a3 I W@ Fow A 3FH fio W IF ¥ TR fFan| (WURon) I a1 |5 F JFad H 56
FHAT 82 §9 F THS-THS & M| a9 I FT Yarg AW A WAH A F AT g F IR § 9€ 397 gH
A ST B YRT A TG Ah @ 41| HT @ S 3@ el g3 98 T@T AT Fogr o G ATl
AT W st geR framl AT I ofY, g AT gt Anl g i AT W uF ff, S T A9 993 F 9
93t Yl g9 FT Fd WK 39 TA-URT H U7 A1, ST Fhll wg1 oArerait, omr 7t Facdt| st o & s@ &
S A oo et % T gam ATl AR IHHT W@ 41l A 9 A A AF AQ E R A 39S 5@ N}
RI3MT H U I@T Tl

3YYFA TCIATA FT IGH AR G AT YA FT 3ca IARTI
Yol HRAAY FAT At Fla-dr qfer 37

1. A

2. 9R A

3. A

4. 3T oA

Correct Answer :-

o THAHA
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23) ARATY FAT T FoAAA 8, I§ Ferh F1 W A §1 7T & 9w &1 39 Ao H el 9 wged
IR 9ig I@T g, mﬁawﬁm#wﬁmﬁmwﬁwgmﬁmmﬂzﬁw—mﬁ—qm
UrilTaw Ty §, ﬁm@rmémtwmaﬁqﬁamﬁaﬁlwﬂa#mwmwaﬁﬁhﬂ
m#ﬁmﬁmmaﬁmaﬁrwwﬁmﬁmgﬁ#mﬁmﬁ%lﬁmmm
TF AEEREF U1l §% F Aa & HARE warer # eiw aw a1 Rragfeaat adt s g of FEel g
mmwmﬁwﬁaﬁlwﬁmmm#wmmﬁmw
FETAT T STAT FIHS @ 81 37 TR & %ag (1/32) FT IE 31U ST ¢ :

"# gea & WHA F1 I FT §, e 37 T 7 FA ggS HAr ¥ 3@ A (AHE IR) B
AR, S 1 URT F yarfed fFar 3R gda W ARRAY F Qv war @ seg o 39 A7 Fr AR PO,
St 94T W TEAT 971 @ @ Fon & AT a9 g anl (5w A S @ AR w1 awar @) G ¢
It fY e T A A A qF TAT| WA HT T F @ IR F AT QAT A 3 a9 ¥ AR
W WBR fFan o F Arnfaat i Awr w Ay R 3w 3, 3w R s w srega e s
TREATT. §7% FT F$ U @ §o5 o g7 & 3HA1 A W FIC 370, ¥ 93 A sifear FA et & gT
Rl W AR 9311 g FF g9 IR gow § a5 T 47| Sowr WHURN ¢, 38K IaF A FT gHA
m%laﬁsﬁa»'maﬂﬁwmm?a?aﬁm#mlwmaﬁrmwaﬁwsﬁm
3% @ @31 I W ow A 3WH flo W aF ¥ TR fanl (WURon) 3« sar Wi F JFEa H 56
m%‘?asra:mmg’rmﬁlaﬁmmmmﬁaﬁwwﬁa};maﬁ#m#aﬁwma
#aaaﬁramaﬁaaaawﬁﬂa:wmwaﬁmsﬁﬂmgma?mmsﬁ#asrfrelﬁa-é’m
AT W oY wgR fFAT AT FUT oA, aar:haqgnma—ara?rmt#q—s’rm aammma:m
qag’rlaamqgramrwm-ﬂm#qgrm S e gt ST, R it Eehl ge A & aw A
AFT A oo sl aF T GIAT ATl HY IHHT WwrE A1l SRy 9for A Y AF A, Q& swQ o« f
URIAT FT AF @1 o7

39T A FT GGH alld G AT YT FT Sea] TABT
ges: FIrde fea-wifecy &1 Fu1 Iy AW A §2
1. grdleTdH

2. aiffAs

3. 37T

4, AEIHTATT

Correct Answer :-

24) HRAAY FUT FT FAAA 8, Ig Feret H1 TS Aw T FATT A W &1 390 qor A el W ggel
IR diT T@T N, FarRd SH FAT A FErer F #f yEAA gAR gl gIAT @AMl ®odg Rea-wifeey w1
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Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn’t
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung
his trident against the mountain near the village water started gushing. People were excited
and ran to the stream, but the water turned out to brackish. Now it was Athena’s chance she
created an olive tree. The people were excited, they could eat the fruit, crush it and make oil,



make fire and buildings from its wood. But now the villagers were scared to announce the
winner. What if Poseidon sent the sea to swallow their homes? But Poseidon did not lose his
temper. He laughed and agreed that his niece was the winner. And so Athena became the
guardian of the village, which then called Athens in her honour.

In this passage, get out of this fix means:
1. Come out of a cage

2. Come out of a bond

3. Come out of a fixed mind set

4. Come out of a difficult situation

Correct Answer :-

e Come out of a difficult situation

2) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung
his trident against the mountain near the village water started gushing. People were excited
and ran to the stream, but the water turned out to brackish. Now it was Athena’s chance she
created an olive tree. The people were excited, they could eat the fruit, crush it and make oil,
make fire and buildings from its wood. But now the villagers were scared to announce the
winner. What if Poseidon sent the sea to swallow their homes? But Poseidon did not lose his
temper. He laughed and agreed that his niece was the winner. And so Athena became the
guardian of the village, which then called Athens in her honour.

In this passage, quandary means:
1. Happy

2. Confused

3. Angry

4, Sad

Correct Answer :-

e Confused



3) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung
his trident against the mountain near the village water started gushing. People were excited
and ran to the stream, but the water turned out to brackish. Now it was Athena’s chance she
created an olive tree. The people were excited, they could eat the fruit, crush it and make oil,
make fire and buildings from its wood. But now the villagers were scared to announce the
winner. What if Poseidon sent the sea to swallow their homes? But Poseidon did not lose his
temper. He laughed and agreed that his niece was the winner. And so Athena became the
guardian of the village, which then called Athens in her honour.

Why did Athena decide to challenge Poseidon?
1. She understood the dilemma of the villagers

2. She wanted to snatch the trident from Poseidon
3. She wanted to rule the village

4. She wanted to prove her strength

Correct Answer :-

* She understood the dilemma of the villagers

4) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung
his trident against the mountain near the village water started gushing. People were excited
and ran to the stream, but the water turned out to brackish. Now it was Athena’s chance she
created an olive tree. The people were excited, they could eat the fruit, crush it and make oil,
make fire and buildings from its wood. But now the villagers were scared to announce the
winner. What if Poseidon sent the sea to swallow their homes? But Poseidon did not lose his
temper. He laughed and agreed that his niece was the winner. And so Athena became the
guardian of the village, which then called Athens in her honour.



In this passage, the phrase flung his trident against the mountain means:
1. Threw the Trident at the mountain

2. Stroked his trident against the mountain

3. Fixed the trident on the mountain

4. Knocked the mountain with the trident

Correct Answer :-

e Threw the Trident at the mountain

5) Read the poem carefully and answer the question given below:
The moon

Shadowed by greed,

Eclipsed by corruption,

The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

Curiosity and grace have been compared to

1. flood water



2. darkness
3. moon

4, stars

Correct Answer :-

e stars

6) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

“Shadowed” in the first line means:
1. sadness
2. followed by

3. covered by



4, darkened with

Correct Answer :-

» covered by

7) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace:
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It’s over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

n

“The moon of honesty awaits her turn”... The figure of speech used is
1. Metaphor
2. Personification

3. Alliteration

4. Transferred epithet



Correct Answer :-

¢ Personification

8) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

The moon is compared to

1. attitudes in human beings
2. honesty in human beings
3. values in human beings

4. curiosity in human beings

Correct Answer :-



« attitudes in human beings

9) Read the sentence carefully and choose the option that has an error in it:

Last year our overall sales figures fell by 18%, all the same, the company suffered a major
setback.

1. Last year our overall sales figures fell by 18%,
2. the company suffered
3. all the same,

4. a major setback.

Correct Answer :-

¢ all the same,

10) Fill in the blank with the correct option in the given sentence:
He was instrument-- in bringing the first ever indigenous ship to India.
1. --ed

2. --ally

3. --ation

4. --al

Correct Answer :-

o --al

11) Fill in the blank with the most appropriate preposition in the given sentence.
The mechanicis _ the car.

1. over

2. by

3. under

4, below

Correct Answer :-

e under



Choose the correct option to fill in the blank in the given sentence:

Mr. Khan gave us a --test before the final examination to check our learning skills.
1. post--

2. anti--

3. counter--

4. pre--

Correct Answer :-

13) Fill in the blank with the correct option in the given sentence:

Large factories employ workers for night shifts.

1. routinely
2. routine

3. routiningly

4. rotation

Correct Answer :-

« routinely

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

When the Queen she she wanted to rest.

1. is finished eating, declared
2. has finished eating, is declaring
3. has finished eaten, declared

4. had finished eating, declared

Correct Answer :-
« had finished eating, declared

15) Choose the right tag:



Yellow is your favourite colour, ?
l.isn'tit

2.is it

3. hasn't it

4, doesn't it

Correct Answer :-
e isn'tit

16) Choose the option that substitutes the given phrase appropriately.

A qualified accountant who inspects the accounting records
1. Auditor

2. Clerk

3. Statistician

4. Surveyor

Correct Answer :-
e Auditor

17) Change the given statement to indirect speech.
He said, "These are my pencils.”

1. He said that those are his pencils.

2. He said that these are his pencils.

3. He said that those were his pencils.

4. He said that these were his pencils.

Correct Answer :-

» He said that those were his pencils.

18) Which of the following options best combines the given two sentences?

You will get good marks. You work hard.

1. Working hard, you will get good marks.



2. You work hard, you get good marks.
3. You will get good marks working hard.

4. You will get good marks if you work hard.

Correct Answer :-

¢ You will get good marks if you work hard.

19) Choose the appropriate antonym for the highlighted word in the given sentence.
Our soldiers are known for their bravery.

1. Snobbism

2. Humility

3. Cowardice

4. Gallantry

Correct Answer :-
e Cowardice

20) Choose the appropriate prepositions for the given sentence:

I was depressed when my higher authorities‘turned my project scrutinizing it.
1. down, without

2. towards, by

3. into, before

4. around, after

Correct Answer :-
* down, without
21) Choose the appropriate conjunction for the given sentence:

Those rulers who believed they were invincible set out to conquer the world were
clearly power hungry.

1. and
2. as
3. but

4. because



Correct Answer :-
e and

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Since childhood, he has been liked by everyone as he is very amiable.
1. Since childhood, everyone had liked him as he is very amiable.

2. Since childhood, everyone has been liked by him as he is very amiable.

3. Since childhood, everyone liked him as he is very amiable.

4. Since childhood, everyone has liked him as he is very amiable.

Correct Answer :-

» Since childhood, everyone has liked him as he is very amiable.

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Art schools sponsor trips to interesting parts of the world.

1. Donate
2. Encourage
3. Support

4. Educate

Correct Answer :-
e Support

24) Choose appropriate articles for the given sentence:

My brother plans to live in hotel on outskirts of city.

1. The, g, the
2. The, a, no article required
3. No article required, the, a
4, 3, the, the

Correct Answer :-

e 3, the, the



25) Choose the best option to complete the given sentence.

The two boys were fighting with _ when mother told __ to behave
1. each other, them, themselves

2. me, you, myself

3. all, us, ourselves

4. us, them, himself

Correct Answer :-

« each other, them, themselves

26) Choose an appropriate modal for the given sentence:

Rajni need the money to pay the fees tomorrow.

1. should
2. will
3. can

4, could

Correct Answer :-

o will

27) Choose the most appropriate determiner in the given sentence.
There were chairs in the auditorium.

1. empty

2. colourful

3. wooden

4. seventy

Correct Answer :-

e seventy

28) Choose the option that best explains the highlighted expression:



I could finish the report by Tuesday at a push.

1. something is possible if nothing goes wrong

2. something is possible but only with some difficulty
3. something is possible if someone pushes

4. something is possible if someone offers help

Correct Answer :-
* something is possible but only with some difficulty

29) Choose the option that best explains the highlighted expression:
Parents who don't have control over their children have a lot to answer for.
1. are irresponsible

2. have a lot of answers

3. have to answer many questions

4. are responsible for a lot of bad things

Correct Answer :-
» are responsible for a lot of bad things

30) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, “"The sun rises in the east.”

1. The teacher said the sun rose in the east.

2. The teacher said the sun will rise in the east.

3. The teacher said that the sun will rises in the east.

4. The teacher said that the sun rises in the east.

Correct Answer :-

e The teacher said that the sun rises in the east.

Topic:- Science (SCI)

1)



Find x, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
e QU AT g AT GHAEROT A A#ESERST R Il & AANOBT HT FEar &t

wfaffce &=a g x, v 3R z 7T =
Fe:O; + xCO =2 vFe +zCO:

1.x=1, y=2 & z=1

2.x=3,y=2 & z=3

3.x=2,y=3,& z=2

4.x=4,y=3 & z=4

Correct Answer :-

e x=3,y=28&z=3

2) Thick layer of fat called blubber is found in: /
soE ATHS TET I AR R FAA gt At &
1. Whale / <gol

2. Polar bear / ¢[dI¥ &Te]

3. Camel /BWE

4. Shark / &

Correct Answer :-

« Whale/ cgof

3) What happens when a sound wave is propagated through a medium? /
Ify eafer aer ve ATeAw ¥ gwIRka &), ar 41 gar &2

1. The particles of the medium move perpendicular to the direction of propagation of the wave.

/

HIEIH & H0T, 3T o JAR 1 G & dead FUHIART &l gl
2. The particles of the medium remain in the state of rest./

HATEH & HUT fasmaATaedr & TBd &l

3. The particles of the medium make to and fro motion about their mean position./

HATETH o T, 3o9hl ATET FUfT & T T SeR3EER- aifaefer ga gl

4. The particles of the medium are also propagated. /



s & $U o v 81 B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HATETH o T, 3o7hl ATET FUfT & THT SeR3EER- aifaefer gia gl

4) What are the common fishes selected for pond culture systems? /

dree gad« yonfodt & fov safad 1 1€ s Asfear sia-d@ §2
1. Sharks and rays/‘\’ﬂé'? A Y

2. Sardines and mackerals/lle%a_-f IR FAawo

3. Mullets, bhetki and pearl spots/?!—_q\@l'ciﬂ, fehr 3R gor Tie

4. Catlas, rohu, mrigals, common carps and grass carps /[ hcel, fl§' HdTef, HIHT Fa 3R
I HI

Correct Answer :-

» (Catlas, rohu, mrigals, common carps and grass carps / ehcell, ﬂts_: Hdlel, HIHT Fa 3R
I HI

5) The phenomenon responsible for the twinkling of star is: "/
art &t feAfeawe & QT FwRaR) gear ¢

1. Dispersion and reflection / 98N IR Wada

2. Reflection / 9RTdciel

3. Atmospheric refraction / W qade

4. Dispersion / TR

Correct Answer :-

« Atmospheric refraction / 'CI'I'{I}I'S'E»?I'CI' 39gdeT

6) Which one of the following diseases is almost eradicated from our country? /
farafaf@a & @ fFw o #r gaR qor @ Fmser @o7 F= R T 82
1. Dengue / g?(l'\

2. Malaria / FIfaT

3. Encephalitis / #ATETSH eMeT



4. Poliomyelitis / Giferar

Correct Answer :-

« Poliomyelitis / Giferar

7) The hotness of an object can be measured by its ./
frelt avg &1 e # 3AF EART ATIT AT AT 8
1. volume / 3T ded

2. Temperature / dT9HTA

3. Size / 3T

4. Density / 9elcd

Correct Answer :-

« Temperature / dT9HTT

8) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /
UF G3AH F Il Y IR TF gdor ol areeT @ afer F4T g2

1.0.5s

2.2s

3.1s

4,0.1s

Correct Answer :-

9) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 P gegAT #T T A%, 10 HeUAHhs & T A 37 F 5 AHs & Qv &
Aifas aae & wHieR aifaelier 81 39 fwa v senfea aavor @

1. 0.5 m/s2
2.2 m/s?

3.0m/s?



4. 50 m/s?
Correct Answer :-

« 0m/s?

10) Complete the statement with the correct option given below:

Matter is anything that .
A R v Rwedl # & @ AFeT gaat FuaT F OF
gerd aF § S

1. occupies space and has a definite mass. /

T BT § 3R o v ARad gegAe giar gl
2. occupies space but has no definite mass. /

A BT & difehed ST H1S RARTd gegdleT 781 gar &l
3. exists as a solid with a definite mass. /

U fATRT GegAE & WY T oI & w9 A Higg 8l &l

4. has a definite mass and a definite shape. /

v RARTT gegaT vd v ARG gier 2

Correct Answer :-

« occupies space and has a definite mass. /

T BT § 3R S v AR gegaAeT 8 ar g

11) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOQy from blue to colourless along with a red brown solid getting deposited. /

Cuso4$wﬁmﬂ,ﬁmﬁmﬂjwa?mm§3n%wmwﬁmaaﬁ
Al 1 @ T a1 & AT 9gFd @ arell 39gFd UTg FT Iq I

1. Silver. / TTEl
2. Gold. / &=
3. Mercury. / 9RT

4, Zinc. | ST&EAT

Correct Answer :-



12) Sharp edged metal pin will go easily into the wooden board because: /
asr 4R arelt arg A Aot Iraret § TF5H F AT F gw e w4l

1. As area of contact reduces force increases / TUF &F HH ?IT-T I ¥ Fedr %’I

2. As area of contact reduces force decreases / TIeh &1F HH E’IT-T T ¥ HH gl(-ll %’I
3. As the area of contact reduces the pressure reduces /@ &% ®H g J &9 HH Bidl g

4. As the area of contact reduces the pressure increases / TUd &7 HH 814 I G4 &l g

Correct Answer :-
» As the area of contact reduces the pressure increases / IUh & HH gH I a1 dedl gl

13) A screw gauge with zero correction gives the following reading when used to measure
the diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions.
Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter
of wire from the above data is: /

T PUR & AT TF T 30 UF dR & I & AN F e 30y # aF a&
w frfaf@a 8T a1 81 A= aws §fFT = 0 @t ik g5 s e = 52
w3l fear mar ¢ F qEw AME F1 1 @A, 35 ANE F 100 @It F 36T o
39NFA AT & G- FT A9 ¢

1.0.0052 cm / 0.0052 T#HT
2.0.052 cm / 0.052 ¥+
3.026cm / 0.26 T
4.0.52cm / 0.52 Q#Y

Correct Answer :-

« 0.052cm / 0.052 ¥

14) A dull green colour coating formed when a copper vessel is exposed to moist air for
long. The green material is a mixture of: /

S UF did &1 99 o AT d& HTE 9dEaor A I@dT &, af 39 W T g W1 i
Wd FAH Al g1 I§ &7 GG fhed dcar &1 v fAsor

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO3 / Cu(OH), Td CuCOs



3. Cu(OH), and Cu,O / Cu(OH), Td Cu,O
4. CuO and CuCO; / CuO T CuCOs

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCOs

15) Choose the incorrect property about colloids. /
FIAES F AT IOTH FT TIT
1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PIASSS & HUT dd doh gl oIHAd 6, o do [ 3¢ T oJal B8 &IT JATCT &,
I Fremsso s w1hr 2R ga g1

2. Colloidal particles are not visible to the naked eye. /

HIASSS HUT FTHY 3@l A @S 78T & &

3. The size of colloidal particles lies in the range 10710 cm /
PIATSS U &l 3ThR 107 —107 FHT, bl HAT H Bld 6|

4. A colloidal solution is homogeneous in nature /

U HleSSel [derdel Jehic H HollciRgIdg |

Correct Answer :-

« A colloidal solution is homogeneous in nature /

Teh eSSl [dodel Yehid H Fllcg gl gl

16) Identify an isotope used as a tracer to detect the blood clot in human body /

AT R A Fd F gFF F 9dT A F AT 06 W F ® F yg&d g a
F gHEAE it ggEe #

1. Uranium - 235 / JXTH - 235
2. Todine -131 / 3TAiEeT - 131

3. Sodium — 24 / W3TH - 24

4. Cobalt — 60 / shldTee - 60

Correct Answer :-

« Sodium — 24 / |Af2IH - 24



17) The product formed when iron reacts with steam is /
A 3T arsT FHRTFAT ¥ F9F e I §:

1. FeO

2. FeH

3. Fe203

4, Fe304

Correct Answer :-
. FE3O4

18) The role of decomposers in the ecosystem is /
aiRfPufadt aF # srauest 6 sfawr g §
1. They do not act on organic compounds. / & FIeTesh JIfFRr W HF T8 |

2. To convert inorganic materials into simple forms. / JehTafoleh UGIT ol TXel 4T H
aRafda =Tl

3. To convert organic materials into inorganic forms.s Fefeier Traf & e AT 37
aRafda &l

4. To convert inorganic materials into organic®éompounds. /*3iehTaiRes UGIIf bl dId—d Afih |
gfafdd &

Correct Answer :-

« To convert organic materials into inorganic forms. / Fefeeh gerdf & dFEfds FT &
aRafdd |

19) The lightning arrester helps: /

afsa(@msefa) dus T & A Far &

1. To store the electric charges at the time of lightning /
dfsd & @AY faegd MA@ HIEIT el A

2. Dissipate the electric charges in to the atmosphere /

faega 3R qlgd—is« H BIsd H|

3. Avoid the production charges on the clouds /

Sl H 39T & 3culed & §9 H |



4, To transfer the electric charges to the ground /
fega smast & 4fA 7 TAEARAT e A
Correct Answer :-

« To transfer the electric charges to the ground /

faeg smast A fA 7 TAEAEART Fe A

20) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 et & v A A ufd &7 10 ¢ & fAT 5 qIe & aH Teal & AT A
fretare et F frast fagga sot # @ua gl 82

1. 15 kWh
2. 150 kwh
3. 15000 kWh

4, 1500 kWh

Correct Answer :-

« 15kWh

21) Calculate the formula unit mass of MgSO4.7H,O
[Atomic masses: Mg =24 u,S=32u,0=16u,H=1u] /
MgSO4.7H,0 & HA SHIS GeqAT Y AT FY:
[XATY] gedHATe: Mg=24u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4. 198 u

Correct Answer :-

e 2461

22) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /



W#WWW“WMW*@?WW@W%IW%
afasr Fot AET ¥ § A aRafda & ol &

1. Only Heat energy / hdel ZSHAT Foll
2. Kinetic energy for the wooden board / eT&har & 91T & fov afas Far
3. Only Sound energy / ddl &€afa Fall

4. Sound and heat energy both / 1 3R AT ol gl

Correct Answer :-

« Sound and heat energy both / 1 3R AT SHolf gt

23) Ina sunny day, when the atmospheric temperature is 379C, the temperature inside a
car, which is parked on an open ground is: /

UF 49 arr R A, 79 argeEse awene 370 afwTw o B, @ F SR & ew
ATHAT, St g A H @ 3, AT g

1. Greater than or equal to 37°C / 37°C & SRTeR a1 31f8®
2. Equal t037°C / 379C & sRIsR

3. Always greater than 37°C /37°C & 31f¥I&

4, Less than 379C / 370C 9 &H

Correct Answer :-

« Always greater than 37°C / 379C & 31f&1

24) In a filament bulb the electrical energy is converted into: /

% fhamie aod (A9 aew) # fagga st #t sud uRafda frar srar @
1. Chemical energy / JETITAS Foll

2. Only heat energy / hadl AT Foll

3. Only light energy / hdel JehT oll

4. Light and heat energy both / JehTel 3R AT il gt

Correct Answer :-

« Light and heat energy both / JehIeT 3 FSAT FaiT el

25) What is the valency of Carbon in Methane? /



ANAT A Faa AT TASTFRAT fFasr 82

1. Valency of C=2 / C &T TdloTehdl = 2
2. Valency of C=1/ C T FASTRAT = 1
3. Valency of C=4 / C &1 TIISThdr = 4
4. Valency of C=3 / C &I @IIeehar = 3

Correct Answer :-

« Valency of C=4 / C &I HIISlohdl = 4

26) Which among the following is a mixed anhydride? /

famfaf@a & ¥ #u1 v ABT veeEsEs @2

1.CO,
2. N,0s
3. 50,
4.NO,

Correct Answer :-

. NO,

27) Which of the following is not a control measure for the storage of grains? /
fefaf@a & & #1 3= seror F v g 3ug a9 2

1. Chemical method / T+ fafer

2. Fumigation / ﬂ'\?-ﬂ'

3. Plant products like mineral oils / @fesT del S 96T 3c4TG,

4, Cultural method / 'H'N-_*fﬁla; fafer

Correct Answer :-

o Cultural method / W fafer

28) Which of the following is a biotic component? /

ffaf@a & ¥ Fla-ar v Sfew geF B2



1. Air /91
o]

2. Water / STl

3. Soil / fATE
4. Living things / Sitfdd oy

Correct Answer :-

« Living things / Siifdd T%&U

29) Which of the following is a chemical effect of electric current: /
faer F @ 7 Ragga vaw w1 TARfas v @

1. Producing a magnet using electric current /

faeg Jarg T 3TANT FXh Teh Yooh Schoed el
2. Producing heat in an electric kettle /

Teh Folfargeh ool H FSAT 3ceel Hlell
3. Producing light using electric bulb /

fSSTell & Jod ol 3UANET T YRl Scleal hiall

4. Production of Hy and O, by passing current through water|/

U § 4RT Ualfed B Hy 3R O, BT Il el

Correct Answer :-

» Production of Hy and O, by passing current through water /

Ot & YRT YaTed B H, 3R 0, BT IATGT HAT

30) Name the property of the components used for separating salt and camphor. /
7% AR FIT F IHAT T F AT y@r HFE I a gt F ot gad|
1. Using separating funnel /w 1T FT gIET

2. Magnetic separation /?;—sﬁﬁ'q tt{?l—q"a%TUT

3. Sedimentation / 31ddTCeT

4. Sublimation / F€A9TAT

Correct Answer :-

« Sublimation / FEJUTdl



31) Discoveries, inventions, laws, theories are all related to the .

e, IsHR, e, fRgaa @i ¥ wafda g
1. ease in daily living / &fa¥e Silgel & 3T

2. study of science / faaTeT T 3T

3. luxuries of life / SiTdeT o qaareT
4. satisfying human curiosity / ATHAIY fSRITAT BT TS HIAT
Correct Answer :-

. study of science / TaaTeT &I ETIT

32) Not only formative but also summative assessment can be conducted
through: /

T Fad faATeAS, sfesd Aeneas srwas it AT & #Aeaw @
arfead fRaT ST ET §:

1. Homework / T(Iﬁa?l'éj'

2. Question and answer sessions / 927 3R Fa¥ &

3. Projects '/ GRITSTIT3AT

4. Self-evaluation of teachers / T2I&Tehl a1 m—:a\?a'w

Correct Answer :-

. Projects / GRIATSTATI

33) The drawback of Case Study method is that it does not lead to a: / Fd-
T R F1av g & a7 ye g1 FICr g

1. Generalization / GTHTATRHIOT
2. Conclusion / fasey
3. Categorization / AT oT

4. Assimilation / 3TcHATADIOT

Correct Answer :-



. Generalization / GTHTEITRIOT

34) Which of the following is not a feature of Continuous and Comprehensive
Evaluation (CCE)? / fw=aifaf@a & & #la @t waa va =ams qearss
(@A) fr RFdwar a8 &2

1. It helps the teacher to learn about the existing concepts of students. / Jg STA I
HISET IFAURUMST & aR # S 7 et H geraar H{r gl

2. It involves more frequent tests and examinations. / SHH TR TX&T0T 3R
wreTe FfFAfad gidr g
3. It involves repeated assessment of the same parameter. / SHH Tdh gl HIGUS

FT IR-GX el ATEATIT aidT &l
4. Tt is a school-based evaluation. / g Teh fdeITerT-3memid 31?21130_0-[ gl

Correct Answer :-

. It involves more frequent tests and examinations. / 314?# TR ILreToT 34T
wfieTd gfEAafag @ &

35) Which of the following is not a'scienfific question? / F&Afaf@a & ¥ Hi
AT U 1A 9T gl &?

1. What is the density of water? / OTail &l Gelcd fohdall %‘?

2. Why can we not see in the dark? / & 378 #H FIT T8l ¢ Hhd o?
3. What is meant by a secular republic? / ﬂﬁﬁ@&‘f oS BT T 31 %?

4. Why is the colour of sky blue? / 3{TRTRT BT T e i %?

Correct Answer :-

« What is meant by a secular republic? / ﬂﬁﬁ@&‘f oS BT T 31 %?

36) A formal event where multiple experts deliver their speeches is known
as ./ & 3taaie gear ser #§ fadwa sraar smwor &9 §,
T H AT ST §

1. Laboratory / TITTRATeIT



2. Symposium / GINSEr
3. Exposition / 9&T=T
4. Workshop / SHTAATT

Correct Answer :-

. Symposium / HINSST

37) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 3 3UUg HI dAH

w1 3, o wRa A Tefifae-smenfya fRran &1 sgM & fog oy w0 F yRAfae e
T 3@ 1T UT?

1. ERS2
2. EDUSAT
3. TechEdSat

4, ATS-6

Correct Answer :-

- EDUSAT

38) What is meant by intervarietal hybridisation? /
srerfafaer g&tor &1 F41 7Y @ B2
1. Crossing between different varieties of plants. /
giet & [AfFeT vpR & g GHar ()
2. Crossing between different genera. /
e gonfa & T THear (ifaa)
3. Crossing between genetically dissimilar plants. /
IEifA & § oot gl & dra Feapar (ifda)
4. Crossing between two different species of the same genus. /
Teh &1 9 & &l FHeed JoNTadr & dg Fhdar (i)
Correct Answer :-

« Crossing between different varieties of plants. /

giet & Affiest geR & g daar (i)



39) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable?/qm%muwﬁﬁﬂ&&nmwa;ﬁmm
D! BT MTaTgHal eIt 1 Ham & Ry e gr1 A & Rraor &1
e B & forg, Fafefaa o 3 $i9 91 Suged 781 82

1. Parents’ view of the teacher. / T18Teh & ATAT-TIAT T TTSChHIUT|

2. Performance report of the students in the subject. / AT 7 st fr ged=
ROe|

3. Students’ feedback on the teacher. / T21&Teh ¥ AT hr gfafshar]

4. Other school’s opinion of the science teacher. / 31 ﬁ?@l‘lw $r faareT
frater & IR A |

Correct Answer :-

« Other school’s opinion of the science teacher. / 3T m $r fasreT
fRIgT & IR # |

40) The factor that does not influence the formation of winds is: /

arg fmtor &) guifaa 7 $3 arar sR EE:
1. Presence of mountain ranges / qad %I@FIT &1 sufeufa
2. Presence of seas and oceans / Hﬂiﬁ 3R ?Flgm'l?lff $r 3ufeufa

3. Uneven heating of the atmosphere in different regions of the earth / Cc[%ﬁ & fafdieeT et &
drdraoT &l 3THHATT 96T

4. Rotation of the earth / J2dT @T EUTe

Correct Answer :-

« Presence of seas and oceans / Hﬂ?ﬁ 3R W'ITRT $r 3uTEAta

41) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

w9 fHdt faRiv Wag IR 1000 <Ie BT g YT g7 § ot 39 Hag W @ 91dT1 <41 10 Pa U
ST 8, O 96 YN ag &7 &A% fhaT &

1. 0.001 m?



2. 1000 m?
3. 100 m?
4. 10 m?2

Correct Answer :-

42) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

IR a¥g3il P, Q, R Ud S F} 7ifa u=r: 10 W/, 36 frft/der, 18fpiit/der siiv 30tft/4 81 f
3 axgait #t wfq w82

1.RandS / R Td S
2.PandR / P Td R
3.PandQ / P TT Q
4.QandS / Q UT S
Correct Answer :-

« PandQ / P TT Q

43) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

o Ugay 3t aid fra-t IR 20 el o a1 fRUfY HF uR Hedl 82
1. 10
2. 20
3.40

4. 60

Correct Answer :-

44) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g =10m/s2)/

TS ¢ 100 W Y FHarg | AR ot |1 g & Yy 996 ug=q & fva=r gwa @i (g = 10m/s?)
24/55s

1.



5425

3. 20s

4, 25s

Correct Answer :-

2+/55s

45) Amount of energy transferred from one trophic level to the next is /
TS NS &R A 3T 9P &R § FEaRd Sef ST AFT g 8

1. 5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

e 10%

46) The acid present in Rancid butter /
faepd it vaew & SufRua o gt @

1. Butyric acid / @‘\ﬁ'ﬁiﬁ &l

2. Acetic acid / Tfafew 3Fa

3. Lactic acid / oifdFeah 31Fa

4. Formic acid / BIfHeh 37FeT

Correct Answer :-
 Butyric acid / s?II‘\iEiQEF’ &

47) In an electric motor, the energy transformation is from: /

% fagygd Uier , Sut ufvad=T &ar giar &:

1. Magnetic energy into electrical energy / gﬁ'a Fall &l faegd ST H
2. Mechanical energy into electrical energy/zl'i'ﬁ'EF ol T ﬁajao?r Sl &
3. Electrical energy into magnetic energy / faggd it &1 da@ g SHolf &



4. Electrical energy into mechanical energy / faggd ol &1 gifde SHof A

Correct Answer :-

« Electrical energy into mechanical energy / faggd il &1 TifA® Soll &

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

IUEUCF JuATF ot g § AR T g F AE A B
1. They transfer energy to the next trophic level in the food chain. /

d @ieg Aol # 397 GifSeehcl TR W Foll FAGATART A &

2. They are also called as saprophytes or reducers /

3o¢ Hcoldl a1 TEeheh Y gl ST Bl

3. Decomposers are also scavengers and they clean the earth. /

Hueee IuATern o gl § AR 3 gl & 9 A Bl

4. They help in recycling nutrients. /

d 9Iveh GALShUT H Heg A ol

Correct Answer :-

« They transfer energy to the next trophic level in'the food chain./

d @ieg HGell # 3Tl GifScehd] TG Foll TAATTRS Sl &

49) Which of the following is not a child-centred classroom? / ﬁ?ﬁ‘l’@'\"[ 'l}l ﬁ ﬁq-?ﬁ

qA-Bf5d BT T8l 82

1. Teachers promote collaboration in learning / &t 31f&RTT & T &r
dorar ¢ &l

2. The teacher is a facilitator instead of an instructor / T1&Teh Teh YTAeTH &
oIl Ush HHoaId& gl

3. The teacher decides content, instruction method and assessments / freTen

graaft, der [J3f 3t a1 vk Far &

4. The students have a choice to pick assignments and decide assessment criteria /

oAl & U IASAHAC olel AR Hodiohed HAGIGS TF el HT fdehed g

Correct Answer :-



. The teacher decides content, instruction method and assessments / T1&Teh

T, [Ader A 3T 3merdeT &1 AV aar g

50) Which of the following wastes is not bio degradable? /

frafafEa & @ SF-a1 srufdre Sa Ay a1 Ja saw it 78 82
1. Vegetable peel / Tfeotal & [Solh

2. Milk sachets / G4 & Udbe

3. Cow dung / 7T T TR

4. News paper / 3@dR

Correct Answer :-

« Milk sachets / G4 & B

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / ﬁ'srl%r@?r s GaC| ar AfrTH E@W, Gﬁ'\ﬁaﬁtﬁ'
=BT ST Sgad AT ST 82

1. Experiential learning / 3TeJ87dTcH 3TTH

2. Collaborative learning approach / Hga1dlIceeh. AfUIH TlocHIUT
3. Analogy strategy / TTe2d 0TI

4. Concept mapping / TOGHTed ATATIFOT

Correct Answer :-

« Concept mapping / i?laf.llo-a HATA =0T

52) Which of the following can help the students to learn science through kinesthetic

movements?/mﬁﬁﬁqwaﬁmﬁmﬁﬁa?mmﬁmw
H Hgg B Ghdl 8?2

1. Written test / ToIT@d 9reTr
2. Debate / ale-Tadle

3. Drama / «lceh
4. Quiz / T

Correct Answer :-



« Drama / «lceh

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe feft axg @) U=t Biew 3R sraad gl & ashal & dx A 3T 91T 3, o Bfd 31 upfa grft:
1. Real, enlarged and inverted /aﬂ%ﬁﬁ, FfAafa wa 3
2. virtual, diminished and erect / 3IT3ITdT, H‘fﬁlﬁ Ug arefr

3. Real, diminished and inverted / dl(—dlraeh, J\-Igh'I?Id Tg 3oel

4. Real, diminished and erect/ arfde, Tpfad Td Hieh

Correct Answer :-

» Real, enlarged and inverted /Wﬁiﬁ fPIfIT vg 38

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftra omg a7t & @RI Bt SrerT-3rert | & g 3t srazawar gt ¢ Frafafea # 9 few g
Pt g9 AP F=d gidl 82

1. Child / S=dT

2. Infant / f?f‘{;

3. Man /EI}W

4. Woman / ATgelT

Correct Answer :-

. Infant/f@f‘\’g

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 F TP Jdg W AMHIC: 100 N BT 96 TT SI14T 8 | g W @ a1l &91d 3¢
1. 400 N/m?

2.40 N/m?

3.4 N/m?

4, 250 N/m?

Correct Answer :-



56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: / T fAaTH 39t ol #H Wiedarer F1 NYor FIA A
PR FT T@T §, 3 3¢ WA F TIRT M

1. Investigate ideas / T@ORT $T I L
2. Development of models of inquiry / ST & Ifd#dART (Hisel) & fGhfd |

3. Observe phenomenon keenly / &al I 3ol H |

4. Frame questions / & T2 IR &I |

Correct Answer :-

« Observe phenomenon keenly / &cdl I 3cqehd g |

57) Which of the following would not promote active discussion? / faeTfaf@d
# ¥ #i 9y T=T H Fe@r A¢T 2am?

1. Selecting topics from upcoming tests. / TTITHT q&ToT & fAsat &1 e
T |

2. Summarizing ideas with the help oflearners atithe end of a discussion. / Tar &
3a H Rt fr errdar @ 9Ot & IRk aE

3. Acknowledging learners for responses. / gfafear & faw it
TR HTAT|

4. Encouraging questions as well as responses to each other’s questions. / &aTell hl

HIcHTE il Td AU & Th-gEX & YT ol STare el
Correct Answer :-

. Selecting topics from upcoming tests. / 3TRTAT GA&TON & fA9IT T TIeT
|

58) Which of the following statements is false with respect to scientific theories?

| dfas Ryl § 9y # faf@a # @ Fia @1 F9a 79a &
1. A theory must be tested with rigour. / T RIGId DT TGl & ITY TRI&IUT fodr ST

Bl




2. Theories must follow observations. / ﬁlﬁﬁl’l?—ﬁ T W&TUT hT UTolel hiaAT
] i%Q |

3. Theories may be expressed as an equation. / TAGHTAT I Teh HHIHIUT & T
H gad fRar ST et Bl

4. Predictions of theories must be reproducible. / i?la\‘illo-(-i I fr HAfaSIaIiorT
AT T F TeA®cdIeei1d gleil ARV

Correct Answer :-

« Theories must follow observations. / iila\ﬂi('-lul T Y&IUT T YUTeleT el

IR T|

59) A scientific theory cannot be expected to: / T daTfeter fAgura & 3rqam
sTel T ST |l -

1. Predict all outcomes / @&y GRUTAT T YaleART |
2. Resist falsification / 3THcTeOT &1 TaUY Y|
3. Receive questioning / 9211 &l UTC &Y |

4. Change with time / IHT & 1Y G|

Correct Answer :-

» Predict all outcomes / G$fT TRUTHAT T qATTA e |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land
infertile. What substance is generally added to the soil to neutralize this effect? /

F F TErfas 3R F afa w@er F Bd 3T et ¥ aur gfF seaes @
ST §1 3 IHIG H AW FA & QAU IATTS: R ggred B Aed # R
ST 82

1. NaOH

3. Na2CO3
4. CaO

Correct Answer :-

« CaO
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